



## On the zeros of the Polar Derivative of a polynomial

M. H. Gulzar<sup>a,\*</sup>, B. A. Zargar<sup>a</sup>, R. Akhter<sup>a</sup>

<sup>a</sup>Department of Mathematics, University of Kashmir, Srinagar 190006, Jammu and Kashmir, India

### Abstract

Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  such that  $a_n \geq a_{n-1} \geq \dots \geq a_0 > 0$ , then according to the Enström-Kakeya Theorem all the zeros of  $P(z)$  lie in  $|z| \leq 1$ . Aziz and Mohammad have shown that under the same condition on coefficients the zeros of  $P(z)$  whose modulus is greater than or equal to  $\frac{n}{n+1}$  are simple. In this paper, we extend the above result to the polar derivative.

*Keywords:* Coefficients, Polynomial, Polar Derivative, Zeros.

*2010 MSC:* 30C10, 30C15.

### 1. Introduction and Preliminaries

Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$ , then concerning the distribution of zeros of  $P(z)$ , Eneström and Kakeya proved the following result:

**Theorem 1.1.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  such that

$$a_n \geq a_{n-1} \geq \dots \geq a_0 > 0.$$

Then  $P(z)$  has all its zeros in  $|z| \leq 1$ .

Regarding the multiplicity of zeros of a polynomial, A. Aziz and Mohammad[1] proved the following result:

**Theorem 1.2.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  such that

$$a_n \geq a_{n-1} \geq \dots \geq a_0 > 0.$$

Then all the zeros of  $P(z)$  of modulus greater than or equal to  $\frac{n}{n+1}$  are simple.

\*M. H. Gulzar

Email addresses: [gulzarmh@gmail.com](mailto:gulzarmh@gmail.com) (M. H. Gulzar), [bazargar@gmail.com](mailto:bazargar@gmail.com) (B. A. Zargar), [rubiaakhter039@gmail.com](mailto:rubiaakhter039@gmail.com) (R. Akhter)

In [2] A. Aziz and Mohammad gave a generalisation as well as a refinement of Theorem (1.2) as follows:

**Theorem 1.3.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n > 1$  such that for some  $t > 0$ ,

$$ta_j \geq a_{j-1}, j = 2, 3, \dots, n$$

$a_0$  may be real or complex number. Then all the zeros of  $P(z)$  of modulus greater than or equal to  $\frac{t(n-1)}{n}$  are simple.

In literature, there exist generalizations and extensions of Theorem (1.2) and Theorem (1.3) (see [3], [6]). Let  $\alpha$  be a complex number. If  $P(z)$  is a polynomial of degree  $n$ , then the polar derivative of  $P(z)$  with respect to  $\alpha$ , denoted by  $D_\alpha P(z)$  is defined by

$$D_\alpha P(z) = nP(z) + (\alpha - z)P'(z)$$

Clearly  $D_\alpha P(z)$  is a polynomial of degree at most  $n - 1$  and it generalizes the ordinary derivative in the sense that

$$\lim_{\alpha \rightarrow \infty} \frac{D_\alpha P(z)}{\alpha} = P'(z)$$

Ramulu and Reddy [8] found the bounds for the zeros of  $D_\alpha P(z)$  under certain conditions on its coefficients. In fact they proved:

**Theorem 1.4.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  such that

$$na_0 \leq (n-1)a_1 \leq (n-2)a_2 \leq \dots \leq 3a_{n-3} \leq 2a_{n-2} \leq a_{n-1}.$$

Then all the zeros of  $D_0 P(z)$  lie in

$$|z| \leq \frac{a_{n-1} - na_0 + |na_0|}{a_{n-1}}.$$

**Theorem 1.5.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  such that

$$na_0 \geq (n-1)a_1 \geq (n-2)a_2 \geq \dots \geq 3a_{n-3} \geq 2a_{n-2} \geq a_{n-1}.$$

Then all the zeros of  $D_0 P(z)$  lie in

$$|z| \leq \frac{|na_0| + na_0 - a_{n-1}}{a_{n-1}}.$$

In literature, there exist generalizations and extensions of Theorem (1.4) and Theorem (1.5) (see [5], [9]).

## 2. Main Result

In this paper, we obtain a region in which the zeros of polar derivative are simple. In fact we prove the following:

**Theorem 2.1.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$ . Let  $\alpha \in \mathbb{R}$  such that

$$\begin{aligned} (n-1)[n\alpha a_n + a_{n-1}] &\geq (n-2)[(n-1)\alpha a_{n-1} + 2a_{n-2}] \geq \dots \geq 3[4\alpha a_4 + (n-3)a_3] \\ &\geq 2[3\alpha a_3 + (n-2)a_2] \geq [2\alpha a_2 + (n-1)a_1]. \end{aligned}$$

Then all the zeros of  $D_\alpha P(z)$  whose modulus is greater than or equal to

$$\frac{(n-1)[n\alpha a_n + a_{n-1}] - [2\alpha a_2 + (n-1)a_1] + |2\alpha a_2 + (n-1)a_1|}{(n-1)|n\alpha a_n + a_{n-1}|}$$

are simple.

Proof: Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$ , then

$$D_\alpha P(z) = (n\alpha a_n + a_{n-1})z^{n-1} + ((n-1)\alpha a_{n-1} + 2a_{n-2})z^{n-2} + \dots + (3\alpha a_3 + (n-2)a_2)z^2 + (2\alpha a_2 + (n-1)a_1)z + (\alpha a_1 + na_0).$$

So

$$D'_\alpha P(z) = (n-1)(n\alpha a_n + a_{n-1})z^{n-2} + (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})z^{n-3} + \dots + 2(3\alpha a_3 + (n-2)a_2)z + (2\alpha a_2 + (n-1)a_1).$$

Now consider the polynomial

$$Q(z) = (1-z)D'_\alpha P(z)$$

That is

$$Q(z) = (1-z)\{(n-1)(n\alpha a_n + a_{n-1})z^{n-2} + (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})z^{n-3} + \dots + 2(3\alpha a_3 + (n-2)a_2)z + (2\alpha a_2 + (n-1)a_1)\}$$

which implies

$$Q(z) = (n-1)(n\alpha a_n + a_{n-1})z^{n-2} + (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})z^{n-3} + \dots + 2(3\alpha a_3 + (n-2)a_2)z + (2\alpha a_2 + (n-1)a_1) - (n-1)(n\alpha a_n + a_{n-1})z^{n-1} - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})z^{n-2} - \dots - 2(3\alpha a_3 + (n-2)a_2)z^2 - (2\alpha a_2 + (n-1)a_1)z$$

or

$$Q(z) = -(n-1)(n\alpha a_n + a_{n-1})z^{n-1} + \{(n-1)(n\alpha a_n + a_{n-1}) - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})\}z^{n-2} + \{(n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) - (n-3)((n-2)\alpha a_{n-2} + 3a_{n-3})\}z^{n-3} + \dots + \{3(4\alpha a_4 + (n-3)a_3) - 2(3\alpha a_3 + (n-2)a_2)\}z^2 + \{2(3\alpha a_3 + (n-2)a_2) - (2\alpha a_2 + (n-1)a_1)\}z + \{2\alpha a_2 + (n-1)a_1\}.$$

Therefore

$$|Q(z)| \geq |(n-1)(n\alpha a_n + a_{n-1})||z|^{n-1} - \{|(n-1)(n\alpha a_n + a_{n-1}) - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})||z|^{n-2} + |(n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) - (n-3)((n-2)\alpha a_{n-2} + 3a_{n-3})||z|^{n-3} + \dots + |3(4\alpha a_4 + (n-3)a_3) - 2(3\alpha a_3 + (n-2)a_2)||z|^2 + |2(3\alpha a_3 + (n-2)a_2) - (2\alpha a_2 + (n-1)a_1)||z| + |2\alpha a_2 + (n-1)a_1|\}$$

which implies

$$|Q(z)| \geq (n-1)|n\alpha a_n + a_{n-1}||z|^{n-2} \left[ |z| - ((n-1)|n\alpha a_n + a_{n-1}|)^{-1} \{ |(n-1)(n\alpha a_n + a_{n-1}) - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})| + |(n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) - (n-3)((n-2)\alpha a_{n-2} + 3a_{n-3})||z|^{-1} + \dots + |3(4\alpha a_4 + (n-3)a_3) - 2(3\alpha a_3 + (n-2)a_2)||z|^{-(n-4)} + |2(3\alpha a_3 + (n-2)a_2) - (2\alpha a_2 + (n-1)a_1)||z|^{-(n-3)} + |2\alpha a_2 + (n-1)a_1||z|^{-(n-2)} \} \right].$$

Now if  $|z| > 1$ , then  $\frac{1}{|z|} < 1$ ,

$$|Q(z)| \geq (n-1)|n\alpha a_n + a_{n-1}| \left[ |z| - ((n-1)|n\alpha a_n + a_{n-1}|)^{-1} \{ (n-1)(n\alpha a_n + a_{n-1}) \right. \\ \left. - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) + |(n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) - (n-3)((n-2)\alpha a_{n-2} \right. \\ \left. + 3a_{n-3})| + \dots + |3(4\alpha a_4 + (n-3)a_3) - 2(3\alpha a_3 + (n-2)a_2)| + |2(3\alpha a_3 \right. \\ \left. + (n-2)a_2) - (2\alpha a_2 + (n-1)a_1)| + |2\alpha a_2 + (n-1)a_1| \} \right]$$

that is

$$|Q(z)| \geq (n-1)|n\alpha a_n + a_{n-1}| |z|^{n-2} \left[ |z| - ((n-1)|n\alpha a_n + a_{n-1}|)^{-1} \{ (n-1)(n\alpha a_n + a_{n-1}) \right. \\ \left. - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) + (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) - (n-3)((n-2)\alpha a_{n-2} + 3a_{n-3}) \right. \\ \left. + \dots + 3(4\alpha a_4 + (n-3)a_3) - 2(3\alpha a_3 + (n-2)a_2) + 2(3\alpha a_3 + (n-2)a_2) - (2\alpha a_2 + (n-1)a_1) \right. \\ \left. + |2\alpha a_2 + (n-1)a_1| \} \right]$$

or

$$|Q(z)| \geq (n-1)|n\alpha a_n + a_{n-1}| |z|^{n-2} \left[ |z| - ((n-1)|n\alpha a_n + a_{n-1}|)^{-1} \{ (n-1)(n\alpha a_n + a_{n-1}) \right. \\ \left. - (2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1| \} \right].$$

Hence,  $|Q(z)| > 0$  if

$$|z| > \frac{(n-1)(n\alpha a_n + a_{n-1}) - (2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1|}{(n-1)|n\alpha a_n + a_{n-1}|}$$

This shows that all the zeros of  $Q(z)$  whose modulus is greater than 1 lie in

$$|z| \leq \frac{(n-1)(n\alpha a_n + a_{n-1}) - (2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1|}{(n-1)|n\alpha a_n + a_{n-1}|}.$$

Since the zeros of  $Q(z)$  whose modulus is less than or equal to 1 already lie in

$$|z| \leq \frac{(n-1)(n\alpha a_n + a_{n-1}) - (2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1|}{(n-1)|n\alpha a_n + a_{n-1}|},$$

it follows that all the zeros of  $Q(z)$  lie in

$$|z| \leq \frac{(n-1)(n\alpha a_n + a_{n-1}) - (2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1|}{(n-1)|n\alpha a_n + a_{n-1}|}.$$

Thus all the zeros of  $D'_\alpha P(z)$  lie in

$$|z| \leq \frac{(n-1)(n\alpha a_n + a_{n-1}) - (2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1|}{(n-1)|n\alpha a_n + a_{n-1}|}.$$

In another words, all the zeros of  $D_\alpha P(z)$  whose modulus is greater than or equal to

$$\frac{(n-1)(n\alpha a_n + a_{n-1}) - (2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1|}{(n-1)|n\alpha a_n + a_{n-1}|}$$

are simple.

**Corollary 2.2.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  such that

$$(n - 1)a_{n-1} \geq 2(n - 2)a_{n-2} \geq \dots \geq 3(n - 3)a_3 \geq 2(n - 2)a_2 \geq (n - 1)a_1.$$

Then all the zeros of  $D_0P(z) = nP(z) - zP'(z)$  whose modulus is greater than or equal to

$$\frac{|a_1| - a_1 + a_{n-1}}{|a_{n-1}|}$$

are simple.

**Corollary 2.3.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  such that

$$(n - 1)a_{n-1} \geq 2(n - 2)a_{n-2} \geq \dots \geq 3(n - 3)a_3 \geq 2(n - 2)a_2 \geq (n - 1)a_1 > 0.$$

Then all the zeros of  $D_0P(z) = nP(z) - zP'(z)$  whose modulus is greater than or equal to 1 are simple.

**Theorem 2.4.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$ . Let  $\alpha \in \mathbb{R}$  such that

$$(n - 1)[n\alpha a_n + a_{n-1}] \leq (n - 2)[(n - 1)\alpha a_{n-1} + 2a_{n-2}] \leq \dots \leq 3[4\alpha a_4 + (n - 3)a_3] \\ \leq 2[3\alpha a_3 + (n - 2)a_2] \leq [2\alpha a_2 + (n - 1)a_1].$$

Then all the zeros of  $D_\alpha P(z)$  whose modulus is greater than or equal to

$$\frac{[2\alpha a_2 + (n - 1)a_1] + |2\alpha a_2 + (n - 1)a_1| - (n - 1)[n\alpha a_n + a_{n-1}]}{(n - 1)|n\alpha a_n + a_{n-1}|}$$

are simple.

Proof: Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$ , then

$$D_\alpha P(z) = (n\alpha a_n + a_{n-1})z^{n-1} + ((n - 1)\alpha a_{n-1} + 2a_{n-2})z^{n-2} + \dots + (3\alpha a_3 + (n - 2)a_2)z^2 \\ + (2\alpha a_2 + (n - 1)a_1)z + (\alpha a_1 + na_0).$$

So

$$D'_\alpha P(z) = (n - 1)(n\alpha a_n + a_{n-1})z^{n-2} + (n - 2)((n - 1)\alpha a_{n-1} + 2a_{n-2})z^{n-3} + \dots \\ + 2(3\alpha a_3 + (n - 2)a_2)z + (2\alpha a_2 + (n - 1)a_1).$$

Now consider the polynomial

$$Q(z) = (1 - z)D'_\alpha P(z)$$

That is

$$Q(z) = (1 - z)\{(n - 1)(n\alpha a_n + a_{n-1})z^{n-2} + (n - 2)((n - 1)\alpha a_{n-1} + 2a_{n-2})z^{n-3} + \dots \\ + 2(3\alpha a_3 + (n - 2)a_2)z + (2\alpha a_2 + (n - 1)a_1)\}$$

which implies

$$Q(z) = (n - 1)(n\alpha a_n + a_{n-1})z^{n-2} + (n - 2)((n - 1)\alpha a_{n-1} + 2a_{n-2})z^{n-3} + \dots + 2(3\alpha a_3 + (n - 2)a_2)z \\ + (2\alpha a_2 + (n - 1)a_1) - (n - 1)(n\alpha a_n + a_{n-1})z^{n-1} - (n - 2)((n - 1)\alpha a_{n-1} + 2a_{n-2})z^{n-2} - \dots \\ - 2(3\alpha a_3 + (n - 2)a_2)z^2 - (2\alpha a_2 + (n - 1)a_1)z$$

or

$$\begin{aligned}
 Q(z) = & -(n-1)(n\alpha a_n + a_{n-1})z^{n-1} + \{(n-1)(n\alpha a_n + a_{n-1}) - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})\}z^{n-2} \\
 & + \{(n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) - (n-3)((n-2)\alpha a_{n-2} + 3a_{n-3})\}z^{n-3} + \dots \\
 & + \{3(4\alpha a_4 + (n-3)a_3) - 2(3\alpha a_3 + (n-2)a_2)\}z^2 + \{2(3\alpha a_3 + (n-2)a_2) \\
 & - (2\alpha a_2 + (n-1)a_1)\}z + \{2\alpha a_2 + (n-1)a_1\}.
 \end{aligned}$$

Therefore

$$\begin{aligned}
 |Q(z)| \geq & |(n-1)(n\alpha a_n + a_{n-1})||z|^{n-1} - \{(n-1)(n\alpha a_n + a_{n-1}) - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})\}|z|^{n-2} \\
 & + |(n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) - (n-3)((n-2)\alpha a_{n-2} + 3a_{n-3})||z|^{n-3} + \dots \\
 & + |3(4\alpha a_4 + (n-3)a_3) - 2(3\alpha a_3 + (n-2)a_2)||z|^2 + |2(3\alpha a_3 + (n-2)a_2) - (2\alpha a_2 + (n-1)a_1)||z| \\
 & + |2\alpha a_2 + (n-1)a_1|
 \end{aligned}$$

which implies

$$\begin{aligned}
 |Q(z)| \geq & (n-1)|n\alpha a_n + a_{n-1}||z|^{n-2} \left[ |z| - ((n-1)|n\alpha a_n + a_{n-1}|)^{-1} \{ |(n-1)(n\alpha a_n + a_{n-1}) \right. \\
 & - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})| + |(n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) \\
 & - (n-3)((n-2)\alpha a_{n-2} + 3a_{n-3})||z|^{-1} + \dots + |3(4\alpha a_4 + (n-3)a_3) - 2(3\alpha a_3 \\
 & + (n-2)a_2)||z|^{-(n-4)} + |2(3\alpha a_3 + (n-2)a_2) - (2\alpha a_2 + (n-1)a_1)||z|^{-(n-3)} \\
 & \left. + |2\alpha a_2 + (n-1)a_1||z|^{-(n-2)} \} \right].
 \end{aligned}$$

Now if  $|z| > 1$ , then  $\frac{1}{|z|} < 1$ , so

$$\begin{aligned}
 |Q(z)| \geq & (n-1)|n\alpha a_n + a_{n-1}| \left[ |z| - ((n-1)|n\alpha a_n + a_{n-1}|)^{-1} \{ |(n-1)(n\alpha a_n + a_{n-1}) \right. \\
 & - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2})| + |(n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) \\
 & - (n-3)((n-2)\alpha a_{n-2} + 3a_{n-3})| + \dots + |3(4\alpha a_4 + (n-3)a_3) - 2(3\alpha a_3 + (n-2)a_2)| \\
 & \left. + |2(3\alpha a_3 + (n-2)a_2) - (2\alpha a_2 + (n-1)a_1)| + |2\alpha a_2 + (n-1)a_1| \} \right]
 \end{aligned}$$

that is

$$\begin{aligned}
 |Q(z)| \geq & (n-1)|n\alpha a_n + a_{n-1}| \left[ |z| - ((n-1)|n\alpha a_n + a_{n-1}|)^{-1} \{ (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) \right. \\
 & - (n-1)(n\alpha a_n + a_{n-1}) + (n-3)((n-2)\alpha a_{n-2} + 3a_{n-3}) - (n-2)((n-1)\alpha a_{n-1} + 2a_{n-2}) + \dots \\
 & + 2(3\alpha a_3 + (n-2)a_2) - 3(4\alpha a_4 + (n-3)a_3) + (2\alpha a_2 + (n-1)a_1) - 2(3\alpha a_3 + (n-2)a_2) \\
 & \left. + |2\alpha a_2 + (n-1)a_1| \} \right]
 \end{aligned}$$

or

$$\begin{aligned}
 |Q(z)| \geq & (n-1)|n\alpha a_n + a_{n-1}| \left[ |z| - ((n-1)|n\alpha a_n + a_{n-1}|)^{-1} \{ (2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1| \right. \\
 & \left. - (n-1)(n\alpha a_n + a_{n-1}) \} \right].
 \end{aligned}$$

Hence  $|Q(z)| > 0$  if

$$|z| \geq \frac{(2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1| - (n-1)(n\alpha a_n + a_{n-1})}{(n-1)|n\alpha a_n + a_{n-1}|}.$$

This shows that all the zeros of  $Q(z)$  whose modulus is greater than 1 lie in

$$|z| \leq \frac{(2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1| - (n-1)(n\alpha a_n + a_{n-1})}{(n-1)|n\alpha a_n + a_{n-1}|}.$$

Since the zeros of  $Q(z)$  whose modulus is less than or equal to 1 already lie in

$$|z| \leq \frac{(2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1| - (n-1)(n\alpha a_n + a_{n-1})}{(n-1)|n\alpha a_n + a_{n-1}|},$$

it follows that all the zeros of  $Q(z)$  lie in

$$|z| \leq \frac{(2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1| - (n-1)(n\alpha a_n + a_{n-1})}{(n-1)|n\alpha a_n + a_{n-1}|}.$$

Thus all the zeros of  $D'_\alpha P(z)$  lie in

$$|z| \leq \frac{(2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1| - (n-1)(n\alpha a_n + a_{n-1})}{(n-1)|n\alpha a_n + a_{n-1}|}.$$

In another words, all the zeros of  $D_\alpha P(z)$  whose modulus is greater than or equal to

$$\frac{(2\alpha a_2 + (n-1)a_1) + |2\alpha a_2 + (n-1)a_1| - (n-1)(n\alpha a_n + a_{n-1})}{(n-1)|n\alpha a_n + a_{n-1}|}$$

are simple.

**Corollary 2.5.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  such that

$$(n-1)a_{n-1} \leq 2(n-2)a_{n-2} \leq \dots \leq 3(n-3)a_3 \leq 2(n-2)a_2 \leq (n-1)a_1.$$

Then all the zeros of  $D_0 P(z) = nP(z) - zP'(z)$  whose modulus is greater than or equal to

$$\frac{|a_1| + a_1 - a_{n-1}}{|a_{n-1}|}$$

are simple.

**Corollary 2.6.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  such that

$$(n-1)a_{n-1} \leq 2(n-2)a_{n-2} \leq \dots \leq 3(n-3)a_3 \leq 2(n-2)a_2 \leq (n-1)a_1 > 0.$$

Then all the zeros of  $D_0 P(z) = nP(z) - zP'(z)$  whose modulus is greater than or equal to 1 are simple

### 3. Acknowledgement

This work was supported by NBHM, India, under the research project number 02011/36/2017/R&D-II

## References

- [1] A.Aziz, Q.G.Mohammad, *On the zeros of certain class of polynomials and related analytic functions*, J.Math.Anal.Appl.**75**(1980), 495-502. [1](#)
- [2] A.Aziz, Q.G.Mohammad, *Zero free regions for polynomials and some generalizations of Enestrom-Keakeya Theorem*, Canad.Math.Bull.**27**(3),1984, 265-272. [1](#)
- [3] S. D. Bairagi, Viny Kumar Jain, T. K. Mishra, L. Saha, *On the location of the zeros of certain polynomials*, Publications De L'Institut Mathematique, Nouvelle serie,tome **99**(113)(2016)287-294. [1](#)
- [4] M. Marden, *Geometry of polynomials*, Math.Surveys No.3, Amer.Math.Soc., Providence, Rhode Island, 1966.
- [5] M. H. Gulzar and A. W. Manzoor, *On the zeros of the polar derivative of polynomials*, International Journal of Current Research, **8**(2), (2016)26669-26674. [1](#)
- [6] M. H. Gulzar and Rubia Akhter, *On the location of the zeros of certain polynomials*, International Journal of Advanced Scientific and Technical Research **8**(3) (2018) 54-61. [1](#)
- [7] G. V. Milovanovic, D. S. Mitrinovic, T. M. Rassias, *Topics in polynomials, Extremal problems, Inequalities, Zeros*, World Scientific, Singapore-New Jersey-London-Hongkong, 1994.
- [8] P.Ramulu and G. L. Reddy, *On the zeros of polar derivatives*, International journal of Recent Research in Mathematics, Computer Science and Information Technology, **Vol.2**, Issue 1 (April2015-September2015), 143-145. [1](#)
- [9] G. L. Reddy, P. Ramulu and C. Gangadhar, *On the zeros of polar derivative of polynomials*, Journal of Research in Applied Mathematics, **2**(4), (2015) 4-7. [1](#)
- [10] Q. I. Rahman, G. Schmeisser, *Analytic Theory Of Polynomials*, Oxford University Press, Oxford, 2002.